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Paper 11
(MCQ+Theory)
(Friday, 19-10-2018) Time : 10.00 a.m. to 12.00 noon
Time— Two Hours Maximum Marks—40
N.B. .— (1) Solve Question No. 1 on OMR sheet.

(i7) Question Nos. 1 and 2 are compulsory.
(111  All questions carry equal marks.
(iv) Negative marks for wrong answers.
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1. (1 Under monopolistic competition, in long run, the firm earns .............
(A)  Normal profit (B)  Superprofit
(C)  Loss (D)  None of these
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(11) Which of the following is not the characteristic of monopolistic
competition ?

(A)  Many sellers (B) Free entry and exit
(C)  No close substitute (D)  Product differentiation
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Which of the following is the characteristics of monopoly ?

(A)  Price discrimination (B) Single seller
(C)  No close substitute (D)  All of these
Greflerden! HeRigRIe TSl v ?
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Which of the following is not a type of price discrimination ?
(A) Personal price discrimination

(B) Place price discrimination

(C) Advertise discrimination

(D) Time price discrimination
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Which of the following is not the characteristics of perfect

competition ?

(A)  Many buyers and sellers (B) Product differentiation

(C)  Free entry and exit (D) No transportation cost
ETClcush! hiod qui T afdTssl @
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In perfect competition a firm is :

(A)  Price taker (B) Price maker

(C)  Both (A) and (B) (D) None of these
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The demand of labour depends on :

(A) Demand of the goods produced by that particular labour
(B) Demand for substitute to labour

(C) Effect of production technique

(D)  All of the above
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Schumpeter deemed profit as the reward for :

(A)  Uncertainty (B)  Insurance
(C) Hardwork (D)  Innovation
QI‘:‘:ﬁWT -q% TR g-l- ................. IhWT 341%-
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Interest is the reward of ................

(A) Land (B)  Labour
(C)  Organization (D)  Capital
IS g—l- .................... = W 3:“%
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(C)  Hu&A (D) viEd®

Modern theory of rent is developed by :

(A)  Giffen, Hicks, Allen

(B)  Fisher, Malthus, Chemberlen

(C)  Dr. Marshall, John Robinson, Boulding
(D)  None of the above
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Theory
Define monopoly and explain its characteristics. 10
TRl A 31 df¥Tes T .
Explain the equilibrium of firm in long run under perfect competition. 10
ol wEd e SO foHwe Ser T

Or

(feram)
What is monopolistic competition ? Explain the characteristics of monopolistic
competition.

TRRRIYH e TS w7 FRQRIGH el il T &
Explain the loanable funds theory of interest. 10
Tl heites et fagia T &
Or
(fenam)
Explain the modern theory of rent.

CV—124—2018 4

CF81689F34738269FB1A7F1D24090CDB



